Maths By Pradeep Sir -

Ql. In the given figure find the angle of
£ABC. .
fae are A7 A LABC &1 &1 SiTd HifAT
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Q2. In the given figure, what is the value of
L14224£3+£4+£,5=7
&t 91 Bl A, L1422+ 23+24+,5 BT ATl &I

22
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Q3. In the given figure, ~.BAC = 70°, LACB =
45° and «DEA = 140°. What is the value of
2.BDE?

¢t 91 sepfa A, LBAC = 70°, LACB = 45° qof
2DEA =140° | 2BDE T HTl T 8?2

(A) 10° (B) 15°

(c) 20° () i
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Q4. In the given figure, EF = CE = CA, What is
the value of LEAC ?

& o A EF = CE = CA &, dl EAC oI
ATl T ?

(A) 58°
(B) 64°
(c) 72°
(D) 32°
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Q5. In a given figure, If AD = DE = EC = BC
thenzA:2B=?

fRe e fAsar Ra A afe AD =DE=EC =BC @ al
LA : 2B BT ATl T ET?

(A)1:3 (B)2:5

ER (D)1:2
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Q6. 2 sides of triangle are of 4 cm and 10 cm.
If 3rd side is length of ‘a’ cm then which is

correct value for a.

i bAoA S
| ‘a . &l,
aiaé?raﬁa-mm;g%? ’
(A)a>5 (B)6<aci2

(SX-RY (D)6<ac14




___ BB 2 MathsByPradeepsir BB

Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following
is correct? . .
fAefc1 ABC & 3iqz BIE g 2, dl fAear 4 &
BTl HAT T E ?

(A) 2(oA + 0B +0C) > (AB + BC + CA)

(B) (OA+ OB +0OC) < (AB + BC + CA)

(c) 2(AB+BC + CA) > (OA + OB + OC)

(p) (AB+BC + CA) > (OA+ OB + OC)
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD U dqefsi 2 3fle AC d2T BD 38 dl
fadwpufg, al fAdot A & BicTdT Bl T 2?2

(A) (AB+BC+ CD + DA) > (AC + BD)

(B) (AB+BC+ CD + DA) < 2(AC + BD)
(c)BothAandB /3l A 3B

(D) None of these [ 3oTA & &1d oTal
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Q9. The 3 sides of an acute angled triangle
are 15,17 and x cm. if x is an integer then
how many such trian%es are possible ?

faseft &Il 2 it s{otre 15 @4l, 17
a?ﬂsﬁazl?mﬁ%'l x b quTfch & af B fdsaat
fRa{e1 dara &

(A)13 (B) 14

(c) 29 (D) 15
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Q10. If the perimeter of a triangle with
integer sides is 32, what is the largest
possible length of the longest side?

afe faseft quiies a[eirsil are fAa{oT o1 ufeamy 32
2 ol A 9t 3{TAT BT EHard HTeT T NI 2

(A)15 (B) 16

(c)17 (D) 18
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Q1. Find the sum of perimeters of all the
triangles formed from the sides- 14cm,
25cm and x cm where x is an integer ?

3o doft Ra{oil Hl aRATAT BT APTHS Td He

fa?rlﬁ. 14ﬁ?ﬁ,25ﬁ?ﬁ3ﬁ?xa?ﬁ§,ﬁlﬁx
quifes 8 ?
(A) 1728 (B) 1944

(c)he7s (D)1560
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Q12. If a and b are the lengths of two sides of
a triangle such that the product ab = 24,
where a and b are integers, the how many
such triangles are possible?

gfe a 31T b fbeft fRafe 6t &) oA 58 UbTe ¥
fd ab = 24, W&l a 311 b Yuifes &&= 8, at e

fhdaa R ssa g ?
(A) 12 (B) 18
(c)15 (D) 16
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Q13. Which of the following represents the
sides of an acute angled triangle?

fdesr & & olerdn, T gal &ivr R &i
3{=TT3il i gerfar g2

(A) 6,9,16 (B)7,8,10

(c)5,12,13 (D) None of these
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Ql4. Two sides of a triangle are 12 cm and 15
cm long and the third side is integer, then
what is the largest value of third side for
which tri- angle is acute.

fa:—eﬁf?r &l =T 12 A, qem 15 A, 2

Uasqufa?%a’tzﬂaﬂ
3rfam %?azn difds ﬁaﬂ%
AT g?
(A)17 (B) 18

(c)19 (D) 20
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Q15. Which of the following combination of
sides results in the formation of obtuse
angled triangle?

BIUT FHA & 6l A aAell b
fAesfSfaa vl A BleTar Sdiviel agl 2 ?

(A) 6,7,13 (B)5,6,8

(c)4,5,6 (D) None of these
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Q16. In an obtuse angle triangle the length
of side opposite to obtuse angle is Kcm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

Toh 3ifeleh BIT fAHA A 3ifeles BT & TSt i
ﬂkﬁ?ﬁ%ﬂﬁ 3y &1 AT 12 Aaft 31217

gl fddet fRaoT darg &l
(A) 7 (B) 8
()9 (D) 10
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Q17. In AABC, 2A = 68°. If | is the incentre of
the triangle, then the measure of BIC is:

AABC & A = 68° g1 T3 | RS T sia b &, at
¢BIC &1 ATY FTd H2]

(A) 124° (B) 68°

(c)1a8° (D) 54°
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Q18. If one of the angle of a triangle is 64°,
then the angle between the bisectors of the
other two interior angles is:

gfe faseft fAse1 & BN & & T 64° &, dl 317
W ' HAfgHToIh &b i< BT BIoT

(A)100° (B) 122°

(c) 96° (D) 1n2°
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Q19. In the given figure, the angle bisectors
of B and C of an isosceles triangle intersect
at point O. Find the angle BOC (in degree),
when £ABC = L/ACB = 75°

&t ot sepfa A, fAei s BIvTB 3R C
& HAfgHTAD - fdeg Ue 1 BIUT BOC BT
aATat (f2ft ) iTd &, 59 LABC = 2ACB = 75°

27

(A) 105 (B) 147.5

(c)160 (D) 170
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Q20. In a AABC, the bisectors of 2B and C
meet at O. If LBOC = 142° then the measure
of LA is:

AABC & ~B 312 ¢ & TAfgaoIh TR fAoq
%’lzrﬁmséc — l42°%°EﬁLAEFI311?fIa§HHEIﬁI
(A) 52° (B) 68°

(c) ne° (D) 104°
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Q21. In AABC, AB and AC are produced to
points D and E, respectively. If the bisectors
of .CBD and BCE meet at the point O and
£BOC =57°, then 2£A is equal to:

AABC &, AB 3iIZ AC &1 hatel: fdg D 3iie E a&b

deran oirar g1 afé .cBD /BCE &
HeAfgaroTehs g U fAiwd &, 3iie .Boc = 57° §,
dl 2A BT AT SiTd Bl

(A) 93° (B) 57°

(c) 66° (D) 1n14°
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Q22. In APQR, PS is the internal bisector of 2P
meeting Qr at s, PQ=16 cm, PR =22.4 cm and
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S U2 QR & fA@al dTST 2P &I
3fidfee fgaioies &, PQ =16 cm, PR = 22.4 cm
3T QR = 9.6 cm &I SR &l Fa1F (cm HA) = d
$ifael

(A) 5.6 (B) 4.4

(c)a (D) 6
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Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side into two
segments. What is the length of the shorter
segment?

AABC &t ofiie 6 &dfl., 7 @4ft., 3ie 8 . 2
a9d 93 &1 HAfgaHToTh HATHSA aTcht el
&l €l @3l A fAa3nfola Hedt 21 B T BT Harg

fhadftg?
(A) 24/5 (B) 21/5
(c) 48/13 (D) 56/13
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Q24. In a triangle ABC, D is a point on BC
such that i—lé = ‘;—'Z. If 1B = 68° and 2C = 52°,
then measure of ~.BAD is equal to:

. . AB _
fAs[ct ABC A D T BC TH CAMfAqE b I =
2 afé .B = 68° 3T £C = 52° |l ,BAD T HTel

féaat 2ome
(A) 60° (B) 30°
(c) 50° (D) 40°
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Q25. In AABC, AD the bisector of LA, meets
BCatD.IfBC=a, AC=band AB =c, thenBD
-DC =

AABC &, £A T HaAfgalToIes AD g Wil BC &I D
RfASdIgIafiBC =a,AC=b3lTAB=cZ dl
BD - DC fas=ifafad & @ fhdad derae 91 ?

ac a(c+b)
(A) b+c (B) c-b

a(c-b) a_b
(C) c+b (D) b+c
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Q26. In AABC, D is a point on BC such that
AD is the bisector of A, AB =11.7 cm, AC =
7.8 cm and BC 13 cm. What is the length (in
cm)ofDC?

AABC & D, BC U2 T BT fdq & fd5 AD, A &1
HAfgToIb &, AB = 1.7 &ft, Ac = 7.8 @3l 3ie
BC = 13 A1 &, dt bc Ht Fard (Aft A) Famg »

CYEX (B) 7.8

(c)s5.2 (D) 6.5
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Q27. PQR is a triangle, whose area is 180
cm?. S is a point on side QR, such that PS is
the angle bisector of 2QPR. If PQ: PR = 2: 3,
then what is the area (in cm(B) triangle
PSR?
PQR U A3 &, AT 8ok 180 A= 21 s,
gg'cmtww s bR g fdb PS, .QPRUE
fgaroiss 81 afq PQ : PR = 2: 3 &, dl fAa[w

PSR &1 &% (Aat.) ATarg ?
(A) 90 (B) 108
(C)144 (D) 72
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Q28. The perimeter of AABC is 24 cm and its
side, BC = 9 cm. AD is the bisector of Z/BAC
while l is the incentre. Al: ID is equal to -

AABC ot ufefaifd 24 daft 2 3ite 3ddht 3[-ITBC =
9 Aaft 81 ,BAC BT HAfZHTHIH AD &, TTafdbs |
3d: dog g1 Al : ID S2TaE &-

(A) 7:5 (B) 5:2

(C) 3:2 (D) 5:3
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Q29. In the given figure, ABC is a triangle.
The bisectors of internal B and external 2C
intersect at D. If 4.BDC = 48°, then what is
the value (in degrees) of 2A?

dt 91d smpfd A, ABC Ta AT 21 B I
3Tedfecsh daAT ,C T dIgl fgaoid fdg D e
ufdwde Hed g1 afe .BDC = 48° g, dl LA &I
aral (f2oft ) T e A D
(A) 48

(B) 96

(c)100
(D) N4
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Q30. In a triangle ABC, AB: AC 5: 2. BC = 9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE? .
fAs{cT ABC & AB: AC = 5: 2, BC = 9 cm £1 BA
&l D d JeIdT HIdl g 3¢ &I CAD &I

HToTeh daTE 912 BC & E Ue fASGT 81 CE &t

59TS (cm R) SITd Hel

(A)6 (B) 9
(c)i0 ME
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Q31. In AABC, 4B = 72° and 4«C= 44°. Side BC
is produced to D. The bisectors of ~B and
£ACD meet at E. What is the measure of
£BEC?

AABC &, £B = 72° 3T .C= 44° §1 3{c1T BC, faey
D d dals oiidl g1 «B 3fi¢ 2ACD & fgaoi®
fSoq e w2 fAwa €1 .BEC Fl ATT T E 2

(A) 58° (B) 46°

(c) 32° (D) 36°
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Q32. If the altitudes of a triangle be 3,4,6
flnd itsin radlus

& HIGIECRCE G
mﬁﬁ%%f ° e
(A) 3/4 (B) 4/3
(c)e/7 (D) 5/4
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Q33. If the given figure point | is the incenter
of AABC then find EC.

fae It A7 A afe 1, AABC &7 3fed: ¢ & al EC
&1 Saard sitd Hiforel

(A) 22
(B) 24
(c) 26
(D) 28
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Q34. If the given figure CE - BC = 6 then find

the value of BE.

fee Ire A3 A afe ce-Be = 6 & dl BE it Saarg
SiTd HBIfAT|
(A) 12

(B) 18

(c) 30
(D)16
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35. fRE I RAF A ~BAC = 120° 3fiT AD, ~BAC BT
AD-AB AEXAC
BT Fefgameres g 1 Afd 207 =2 3

ZEDC = 2ECD &, dl 2B &1 ATl 5iTd HifAel
(A) 40
(B) 20
(c) 60
(D) 80
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36. If the following figure, AD bisects angle
BAC. Find the length of BD.

faes 3nrpfd A AD HIUT BAC &l HeAfganfad
@edl g1 BD dhl SaaTg oiTd HifAT]
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37. What is the inradius of the a triangle

whose

side are 13, 14, 15.

v Aofer it sia: A =tta +el, afe 3aht
cfisiY a[eITt WHarer: 13, 14 3112 15 €

(A) 5

(B) 4

(c)3

(D) 8
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38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR =72 cm. PN is a
median to base QR. What will be the length
(in cm) of PN‘.-’ﬁ 5 .

PQR am@arg foradhil ajTrl'rU PQ=PR =
45 A3t qen QRaf;z a.3ft. 21 PN 3meme Qr &t
AT BT 21 PN BT Saard (.. ) s aeft 2
(A) 36

(B) 24

(c) 27

(D) 32
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39.In a AABC, the sides are AB=16 cm, AC =
63 cm, BC = 65 cm, From A, a straight line
AM is drawn up to the midpoint M of side
BC. Then the length of AMis equal to:

AABC bl ofSITC AB = 16 cm, AC = 63 cm, BC =
65 cm &1 A & 86T BC & A fdg M dh Th
%IEFS?'&ITAM ot et 81 AM 6t SoaTs Terae
(A) 32.5cm

(B) 24.5cm

(C) 23.5cm

(D) 31.5cm
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40. G is the centroid of the triangle ABC,
where AB, BC and CA are 7 cm, 24 cm and
25 cm respectively, then BGis: .

fA3{cT ABC &1 doxb G &, I&BI 3[ATC AB, BC
3e %A shdTel: 7 cm, 24cm 3112 25 cm €1 BG &I
dlol E:

A61cm
(A) 6.

(B) 8% cm

Cslcm
()5

(D) 4% cm
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41.In A ABC which is right angle at 4 and BC

is 5 cm.. BL and CM are medians. If BL BTﬁ cm.

then CM will be
A ABC &, G A U2 HABIVAY 2 3z fAddA BC = 5
A, 2, S AMEABIC BL T2 cM &1 deefae, afe

BL = %ﬁmﬁ.ia’r cM &t BaaTe fhdd goft?

(A) 2+/5 @t
(B) 52 &4t
(c) 10v2 &4t
(D) 4/5 &dt.
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42. PQR is a triangle such that PQ = PR. RS
and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the
value of (PQ/QR)??

PQR 3 YT &1 T AT & fd5 PQ = PR 21RS
dAT QT sharel: 33 PQ dAT PR UT d
Ife AMABIC RS dAT QT HADIUI U Ufddq
wedl &, d (PQ/QR)2 BT AT FATE ?

(A) 3/2

(B) 5/2

(c) 2

(D) None of these
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43. G is controid of given AABC. GN = 4 cm,
GM = 3 cm, £BGA 90°, then find the length of

GC.
fad I Ao ABC BT Foniab &1 GN = 4 A1,
GM = 3 ddfl. 9T .BGA = 90° &, d cc &l
SdTe SiTd HifSe 2 A-

(A) 6 cm.
(c)5cm.
(B) 10 cm.
(D) 9 cm.
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?

AABC & HIeO® AD, BE 3f12 CF 3iddfd ¢ Ue
ddtE A A dFTadie?

(A) AD + BE + CF >(AB+ BC + AC)

(B) 2(AD + BE + CF) > (AB + BC + AC)
(c) 3 (AD + BE + CF) > 4(AB+BC+ AC)
(D) 4(AD +BE + CF) > 3 (AB + BC + AC)




___ BB 2 MathsByPradeepsir BB

45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA > 2AD.

Whlch of the above statements is/are correct?
fotgstfefad w2l ue faame Hifae:

1. faseft Refor &t ufdama sadht dier sAfedw1sit & TThs
AT At 2

2. ﬁ:‘&ﬁﬁaﬁABcﬁ afd BC IR HIE fdsg D 2, dT AB + BC
+ CA > 2AD gl 2

(A) 1only

(B) 2only

(C) Both1and 2

(D) Neither 1 nor 2
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46. An unequal side of an isosceles triangle

is 2 cm. Medians drawn on equal sides are
per- pendicular. Find the area of triangle.

AAfETE AT 6t 31T 3foa 2 At 31 T
aftrait e A ft 1 nfedde Bowaa gt &l

fR3{w1 &1 AT &:
(A) 2 cm? [ &t (B) 1cm? [ &t
(c) 3 cm? [ adft (D) 5 cm? [ &t
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47. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.
then find the area of AABC.

AABC & AD, BE 32 CF HAIfEA®BIC Ue fAG £
AD, BE, CF 10, 24, 26 &dft €1 df AABC &I
SA%Bo Id13

(A) 160

(B) 180

(JK:]

(D) 170
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48. In the given figure G is centroid of AABC
and BG= 13, GC = 9, BC = 5 then find the
value of AG?

&t o1 3rrepfad & 6, A ABC BT dgeb & 32 BG =13,
GC =9, BC =10 g dl AG &1 JTel S1Td HifAT|

(A) 20
(B) 10
(c)15
(D) 18
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49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
length of AG?

AABC & 3{oTT BC = 10 &4l 3fie G Fogch &1 BE
311¢ CF shatel: 3{GiT3il AC 31T AB Ue AEABIC £l
gfe AfEABIC BE 3T CF TABIUT U2 Ufdwde
wedl £ dl oIl AG &l BadTs 311d el

(A) 5

(B) 10

(c)15

(D) 20
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50. G is the centroid of APQR and medians
QT and PS intersect at right angle. If QT = 27
and PS =18 then find the length of RT?

fA3{sT PQR &1 tronich G £ 3HiE AfEABIC QT 3T
PS Tch- e Bl AABIVI Ue Ufdwde dwedt g1afe
QT = 27 3fi2 PS = 18 § Gl RT ol B3T3 SiTd el
(A)10

(B) 15

(c)s

(D) 20
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51. An unequal side of an isosceles triangle

is 2 cm. Medians drawn on equal sides are

per- pendicular. Find the area of triangle.

AAfgaTz A & 3reretrer oo 2 At 81 darat
Y T2 foHt a1 Afedee Seaaa adt g

3T BT A &:

(A) 2 cm? [ @t

(B) 1cm? [ &di:

(c) 3 cm? [ adfi:

(D) 5 cm? [ @4l
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52. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.
then find the area of AABC.

AABC & AD, BE 3112 CF ATfSABIC 0 U fAS 2
AD, BE, CF 10, 24, 26 &dft €1 df AABC &I
A% gar3il

(A) 160

(B) 180

(JK:]

(D) 170
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53. In the given figure G is centroid of AABC
and BG = 13, GC = 9, BC = 5 then find the
value of AG?

&t 91 3mepfd ' 6, AABC T dgieh € 312 BG = 13,
GC =9, BC =10 g dl AG &1 JTel S1Td HifAT|

(A) 20
(B) 10
(c)15
(D) 18




___ BB 2 MathsByPradeepsir BB

54. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
length of AG?

AABC & 3{oTT BC = 10 &4l 3fie G Fogch &1 BE
311¢ CF shatel: 3{GiT3il AC 3l AB Ue AEABIC £l
gfe AfeABIC BE 3T CF THABIUT U2 Ufdwde

el £ dl oIl AG &l BadTs 3I1d el
(A)5 (B) 10
(c)1s (D) 20
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55. O is circumcentre of AABC if 4zBAC = 85°
<BCA = 80° find - OAC.

AABC &1 Uf3dsog 0 g1afe .BAC = 85°, ,BCA =
80° dl LOAC &-

(A) 60° (B) 75°

(c) 80° (D) 30°
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56. If O is circumcentre of AABC and 2BAC =
58° then find the value of 2 OBC?

afe v AT ABC &1 Ufddsoy O 8 92T LBAC =
58° dF LOBC &1 AT FATE ?

(A) 29°

(B) 32°

(c) 48°

(D) 58°
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57.Ina A PQR, 2Q = 60°, PR = 146 cm. find the

circumradius of triangle PQR.
fA3{c1 A PQRA 2Q = 60°, PR = 146 A1 &, A3
PQR & SigA qa Fl A aar g »

(A) 7V7 cm
(B) 7V3 cm
(C) 7V6 cm
(D) 14vV2 cm
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58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides
are 6,8 and 10 cm?

T R 6 68310 IR S
mﬂ%ﬁsﬁ? %aﬂaﬁqﬂmﬁg’m

(A) V5
(B) V6
(C) 2v2
(D) V7
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59. In a APQR, | and C are respectively incentre
and circumcenter of the triangle. The line Pl is
extended which intersect the circumcircle at

point D. - QCD = x, £ PQR =y and 2QID = z find
7x+7y 2
Syt

A;QRﬁ,laencmerzﬁaﬂaim:aﬁ'm
ufddsey; 21 3EM PI B dgIal U2 UE g ol fdsg D U2
&ledt 21afe 2QcD = x, .PQR = y 3i€ £QID = zdd

7X*7Y &1 ATl sTd HHfAA

27

(A) 9 (B) 5

()14 (D)7
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60.In a AABC, AB =17.5cm AC = 9 cm. Let’s
D be a point on BC such that AD is
perpendicular to BC. If AD= 3cm. Then what
is the ratius of the circle circumscribing the
AABC?

A ABC & AB =17.5 &dft, AC = 9 ddft AT BC Ue
D f8q s U € fd5 AD 1BC Uf? AD 3 At € al
AABC & Ufedson: ol fA<T SiTd e

(A) 26.25

(B) 52.50

(R ERVI

(D) None of these
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61. What is the maximum number of
circum-circles that a triangle can have?

Toh AT & 3ffded & sifekp fsdal ufRqa &

(c)s
(D) Infinite [ 3feid
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62. O is orthocentre of AABC if LBOC = 120°
find 2.BAC

o fA3[d ABC &1 &4 deg, g1 T LBOC = 120°,
dl 2BAC &-

(A) 135°

(B) 90°

(c)150°

(D) 60°
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63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If zZBOC = 54° then find
£BAC.

v ifdwepivila fAs[e ABC & A 31fde HIoT 8
31 IHBT Baddoy, gl deodre, UM LBOC = 54°
&1, dl zBAC fdhdet gom 2

(A) 108

(B) 126

(PR EL:

(D) 116
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64. If the altitudes of atraingles are 3,4,6.
Find the ratio of its sides. .

fbeft s & dieil aal 6t Seargar 3, 4, 6 2
Y 3 fA3{c1 &t ofeT13iY BT 3rcTuTd Z9T-

(A) 3:4:6

(B) 4:3:2

(c) 3:411

(D) None
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65. In a triangle two altiude are 4 cm and 12
cm respectively and all the altitudes are
integrers. What could be the Ilargest
possible length of the third altitude?

T AT A 41 B9 4 cm 3MiE 12 cm &1 Faft
& a%;TﬁB g1 dterR @ea &t sifdsasn saard
STld hell
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66. In AABC, «A = 52° and O is the

orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively

when produced). If the bi- sector of LOBC

and 2£0OCB meet at P, then the measure of
BPC is:

AABC &, A = 52° 3{12 T A3 &1 &d Doy &
BO 3l CO dd whafel: E 3fiT F U2 AC Td AB &

& oT9 Io% WS fban oran 2) 1 af2 2oBC

3¢ LOCB & fgaioih P R fASA €, df .BPC & :
(A) 124°

(B) 132°

(JREL:

(D) 154°
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67.fAO=8cmand OD =5 cmg—g = %find the value of
OE?

afe A0 = g A 3R oD = Sﬁiﬂ%:%%?ﬁOETrﬂHaﬁ’fl

20
(A) 2\/;
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68.If AO=8cmand OD =5 cm find BD-DC =
? gfe Ao = 8 Al 3fiT oD = 5 Al ¢ a1 BD-DC
§|3III

(A) 60
(B) 65
(SR K]
(D) 110
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69. If AABC and AD 1 BC, P is point of AD if AB
=16cm,AC=15cm,CP=12cmis BP?

afd fAs{cT ABC 3fi2 AD 1 BC, P faeg Uz & dl AD
Ue AB = 16 @dfl, Ac =15 Aeft cp =12 Aft g Gt
BP g9

(A) 5/7

(B) V7

(c) 4/7

(D) 61/7
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70. AABC is right angle triangle where 2ABC
= 90° and BN is perpendicular to AC. Here,
AB =6 cm., AC =10 cm. then find BN?

AABC T HaAh10T fR3oT & fAarat LABC = 90° &
31 BN, AC U2 &ad &1 3&d1 AB = 6 Adft., AC =
10 &l 2, 9 BN fdsaatT gom 2

(A) 3.4

(B) 4.8

(JEX:

(D) 4.4
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71. C is the mid point of AB and «BAD is
equal to ~CBE and LECA is equal to ~DCB. If
£E = 30°. Find D.

afe ¢, AB &1 Ay faeg g 3T ~BAD, .CBE &
31T LECA, ~DCB & §RIS¢ g1 3912 £E = 30° &, al
<D =?
(A) 60°
(B) 15°
(c) a5°
(D) 30°
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72. The sides of a triangle are 4 cm, 8 cm
and 10 cm. Find the length of the shortest
side of similar triangle whose longest side is
15cm?

ves A &6t afwTe 4 Faft, 8 At 3ite 10 Aaft 21
34 dAGU R Ft aad Biet ofc Far goft,
fAadt aad Sadl o 15 At 2

(A) 4 cm [ &t

(B) 8 cm [ &4l

(c) 6 cm [ &4t

(D) 9 cm [ &4t
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73.In given figure AD=6cm, AP=BP=3cm,
ZAPC = /BPD and ~DAP = £EBP then find BC?
fad I 3 A AD = 6 d@dft, AP = BP = 3 4,
/APC = /BPD 3fl¢ .DAP = ZEBP g, dl BC &I
AT SA1d Hifd 2
(A) 3 cm/ @t
(B) 6 cm/ &3t
(c) 5 cm/ adft
(D) None
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74.D is a point on side BC of AABC such that
ADIBC. E is a point on AD for which AE: ED =
5:1. If zBAD = 30° and tan 2ACB = 6 tan DBE
then 2ACBiis?

fA3{c1 AABC it ofvTT BC U2 D Uh B fdsg 2, o5
AD, 3{<1T BC U2 & g1 E, AD U2 U faog ¢ 3iie
AE : ED = 5:1213fe ~.BAD = 30° 3T tan 2ACB =
6 tan «DBE &, dl zACB = ?

(A) 45°

(B) 30°

(c) 60°

(D) 90°
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75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
fgprC? N i
ABC 41 AD BC U¢ &34 gl AC ¢
ﬂammgmma ADaj.’FETBE TH
@1 fdsg o ue ufdwde wed §1afd Ac = Bo
, dl LABC T ATl S1Td hifd 2
(A) 30°
(B) 45°
(c) 60°
(D) 90°
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76. AD is perpendicular to the internal
bisector of ABC of triangle ABC. DE is drawn
through D and parallel to BC to meet AC at
E. If the length of AC is 12cm. then the length
of AE (in cm) is. .

AD f33{cT ABC & ~ ABC & 3ITdfeh fgaiToich bl
4 g1 DE, D & e 3T BC & HaATde Toirdl
oITdT ¢ faad Ac @i E U fAe &1 afe Ac &t
&arg 12 Adft. g at AE &t Farg (At R) fHadft

gioft 2
(A) 4 (B) 3
(c)e (D) 8
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77. Vertex angles of two isoscles triangles

are equal. If ratio of their height is 3: 4, find
the ratio of their perimeter-

al gafgarg Ao & ofef Hr garer 21 af
JoTeht SaTSAN T 3{eUTd 3 : 4 ¢ dl 3oTb Ufaal

T 3[aTd EI9T-
(A) 6:8 (B) 4:3
(c)9:16 ()ER
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78. ABCD is square, BF is the angle bisector
of LABO. OBLEF, OF = 12cm, OE = 8 cm. Find
the area of ABCD.

ABCD T& a3f g1 BF, ZABO 1 HaAfgHToIH &l
OBLEF, OF = 12cm, OE = 8 cm, ABCD bl
AABS TdT341-
(A) 576

(B) 676

(c) 625

(D) 900
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79. In the given figure, if 9~ and PY = 18 cm,
XY 9

then what is the value (in cm ) of PQ ?

dt or$ smepfa &, afe ¥ = - dem py = 18 @A, A ol
pQ I AT (At F) g 2
(A) 28
(B) 18
(c) 21
(D) 24
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80. In a given figure DE || BC and EC || ND, AE:
EB = 4:5 then find EN: EB -

fae J1e 3 & DE || BC dT EC || ND, AE : EB =
4:5 dl EN: EB &-
(A) 5:9

(B) 9:4

(c) 4:5

(D) 4:9
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81. In the given figure. if AD =12 cm, AE = 8
cm and EC = 14 cm, then what is the value

in cm) of BD?
I8 3mepfa &, afe Ap =12 daft., AE = 8 .
d2T Ec = 14 @4f. g, a1 BD &1 AT (At A) =

292

(A) 50/3
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82. AB, EF and CD are parallel lines. Given
thatEG=5cm, GC =10cm, AB =15 cm and
DC =18 cm, find AC? .

AB, EF 3{12 CD HdTodle ¢HTC g1 fear IR 2 fh EG
= 5 @ft., cc =10 Aft., AB = 15 @fl. 3fie DC =
18 . AC BT AT FTE ?
(A) 20 a3,

(B) 24 At.

(c) 25 &4

(D) 28 a3l




___ BB 2 MathsByPradeepsir BB

ar(AABC) 9
ar(APQR) 16

83.Let A ABC ~A QPR and AfAB = 12

cm, BC = 6 cm and AC = 9 cm, then QP is equal to:

ar(AABC) _ 9 B
JATSAT A ABC ~A QPR ﬁ?ar(APQR) == g1afe AB =
12cm,BC = 6 cm 3R AC =9 cm &, dl QP TRIAL &
(A)16 cm (B)9cm

(c)12em (D) 8cm
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84. In triangle ABC, PQ is straigth line
parallel to AC, such that area ABC: area
PBQ=3:1. Then CB: CQis equal to:

faseft fAafet ABC A, AC & HATode T Hielt 2am
PQ =& UohTR £ fd ABC PBQ 31 &9 ¢, dl CB:
CQ RIS O ?

(A) 23 +1)
(B) 2 (3 -1
(€)%

J3—
(D)=~
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85. In APQR points T and S are on PQ and PR,
re- spectively, such that TS is parallel to QR.
f TQ=7.2cm. PS 1.5 cm and SR = 5.4 cm.
then find the length of PT.

APQR &, fdg 3%253:‘&2[ PQ 3fi2 PR U2 §&
m%ﬁns QR & AAde gl AR TQ =7.2cm,
Ps-l§cm3ﬁ?SR 5.4 cm 2, at PT &1 haTd
SiTd 2|

CYEX-X)

(B) 2.4cm

(c)1.35cm

(D) 4.2cm
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86. In a given figure, AB||ICD]| PQ, AB = 12
cm., CD =18 cm. and AC = 6 cm. then value
of PQ (incm.)

will be-

fResefRaAABIIcDIPQ, AB=12adt., cD =
18 &dft. g2 Ac = 6 Al af PQ &1 AT (3.
) 2-
(n) <
(B) 7
(c)o

(p)




___ BB 2 MathsByPradeepsir BB

87. In AABC, F and E are the points on sides
AB and AC. respectively, such that FE || BC
and FE divides the triangle in two parts of
equal area. If ADLBC and AD intersects FE at
G, thenGD:AG="?

AABC & AB 312 AC 3131l U2 shatel: A F 3T E
3 UbTe ¢ fabs FE | | BC @2 FE fA3{T oI FaiTal
&A% dare &t PN A fdenfola wedt 21 afe
ADLBC 3fiZ AD fdg 6 U2 FE ol HTedl 2 at 6D :
AG=?

(A)V2:1

(B) W2 -1):1

(c) 2v2:1

(D) W2 +1):1
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. . A0 _ 5 CO
88.In the given figure — = ~,—

3 BO
= - =2
2then oF =

fResefRadl =22 =2 @ sAadifae ?
(A) = ‘

(B)=:
(c)=

O
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. If area of BOD
and DOC are 26 cm? and 13 cm?. Find the
area of AABC
fAs[s1 ABC &, f3g O, AB, BE 3iI2 CF &I welel
g UE AD I 4: 3 3f[urd A fdenfaa
g, afe fAa{e1 BOD 3iiT DOC &1 SABS
shaTel: 26 3¢ 30 &dl. g, dl AABC &1 STBS
STd BifaA|
(A) 52 cm?
(B) 56 cm?
(C) 54 cm?
(D) None
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90. In the given figure 0 is in-center of A ABC and if

AR IA A Ao, AABCHI A Bon g e S =7, =2
2, a1 22 1 1Tel SA1a HifAd|

(A)
(8) >
(€)=

(D) None
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1 BD

91. In the given figure 22— 122 _ 2 then find the value of
CE FB 2°DC 3

EA
ResefRaAL =1 B0 _ 22 Gt L &1 AT SA1d HifAT 2
FB 2 DC 3 EA

In the given flgure 5 = 2'BE " 32 then find the value of —
fRewefRad =22 5%,31Aoa?rmamﬁﬁ'&.
CD 5 BE OF
21 31
(A) (B)

(c)2 (D) None
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92. In A ABC,X is a point on AB such that AX = 2
BX = 4.1f AC = 7 and BC = 5 find CX. A ABCH X Th
fdeq AB U2 38 UdIe € fd5 Ax = 2 deft. Bx = 4 At
afé ac =7 @afl. 3fie Bc =5 &l a@ cx &1 A
Sdrsill

(A);
(B) 6
(c)s3
(D) None of these
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93. AD is the median of A ABC if AO: OD=5:3
find the AE: EC.

(A) 5:6
(B) 5:8
(c) 6:5
()ER
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94. In the given figure AG: GD = 3: 4, BD: DC =
4:7, AE = 24 cm then find the length of CE.
f&d 913 fds1 A AG:GD = 3: 4, BD: DC 4: 7, AE =
24 At 2, dt CE STa HifAA 2
(A) 44cm
(B) 88cm
(c)84cm
(D) 85cm
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3 AE

95. In the given figure % = g5 = gthen find the value of

AO
OF

v AD 3 AE 5 AO
ResefRads =- —= g di’ c
(A)=

10

31
(3)1—0

(c) =

(D) None
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96. In the given figure AAPJ, PR: RJ = 5: 3, AQ
: QP = 3: 5. If area (APOJ) = 25 cm>. Find area
of AAPJ

f&d 314 AAPJ &, PR : RJ = 5:3, AQ: QP=3:5 §,
Tfeé APOJ BT 8FAB 25 cm? g, dl AT APJ BT
SAB ST hifrd|

(A) 65
(B) 78
(c) 60
(D) None
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97. In the given figure AP =6 cm, CP =5 cm,
PD=2cmPE=1cmand PF=3cmthenBP =
»fReIe R A Ap =6 Aft., cp=53a4f., PD =
2 &3ft., PE = 1 cm @l 3fie PF = 3 §, a1 BP &1
HTel ST1d hiford 2
(A) 5cm
(B) 6cm
(C)7cm
(D) 8cm
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO:OF =?

afe fA3[cT AABC, AO: OF = 5: 4, CO: OD = 3:2 &,
dl BO : OF SiTd $ifd 2
(A) 38:7

(B) 36:7

(JPLR!

(D) 4:7
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99. In the given figure 0 is in-center of A ABC

and if 22=7 Q—Sthenﬁ—o ogfe A fRATAR 0.4

OE 4’0D 3 F
: A0 _7 €O _5 BO
Achslo—rr.m%?fﬁz&_4,0D_ Bé,a’rwwraﬂa
Si1d FifaA|

(A) 2 () >

(c) % (D) None
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100. In AABC,D,E and F are lie on BC,CA and AB
respectively. AE=AF=CD =2,BD =CE =3 and BF =
5. If DE and CF intersect of O.

Find g—g and %.

fsrst A ABC #, D,E 3R F %#er: BC,CA 3R AB W ya 2
AE = AF =CD =2,BD = CE = 3 3R BF =5 ¢ | ¥f¢ DE 3k
CF fRmg 0 Walsdg Fa ¢, At o 3l - e Aiforde

(A) 5:3,19:21 (B) 5:7,19:31

(c) 4:3,17:21 (D) None
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101. In the given diagram AB || GH || DE and
GF || BD || HI, 2.FGC = 80°. Find the value of
<CHI. fee J1e fa= A afe AB || GH || DE 3ie GF ||
BD || HI, .FGC = 80° &, dl ~CHI &I HTel S1d
el

(A) 80°
(B) 120°
(c)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ﬁumﬂaﬁmﬁamw%a?aﬁWA B, C,
D 3112 E &1 9T 511d el

(A) 120°
(B) 180°
(P LTL
(D) Can't be determined
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103. In the figure find x. x &1 AT SITd B
(A) 60° '
(B) 50°
(c) a5°
(D) 30°
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104. In the figure find x. x &1 ATl SATd HL|
(A) 110°
(B) 120°
(c)105°
(D) 90°
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105. In the given figure PQ is parallel to RS, 2
AEF = 95°, «BHS = 110°, and 2ABC = x°. Then
what is the value of x ?

féu 91¢ 3M&\ & PQ, RS A HATdT &, LAEF = 95°,
£BHS =110° 3l LABC = x° &, Al X BT ATA RIT & ?
(A)15 |
(B) 25
(c) 30
(D) 35
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106. In the figure find x and y.
X, y 1 HATel S1T1d &
(A) 40°,95°
(B) 55°,95°
(C) 95°,40°
(D) 90°,45°
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107. In the given figure lines AP and 0Q
intersect at G. If ZAGO + «PGF = 70° and
£PGQ = 40°. Find the angle value of ~PGF.
f3d A A3 & AP 3MiE 0q, G fcq T Fred &
39T LAGO + 2PGF = 70° 3{lT .PGQ = 40° A 4l
£PGF b1 ATel 51Td el
CYEL (B) 40°
(c)e0° (D) 70°
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108. Find the values of x and y?
X 311 y BT ATeT STTd Be

(A) 70°,65°
(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of x and y?
X 311 y BT ATeT STTd Be

(A) 60°,100°

(B) 65°,105°
(C)105°,65°

(D) 100°,105°




___ BB 2 MathsByPradeepsir BB

110. Find the values of x and y?
X 311 y BT ATeT STTd Be
(A) 75°,90°
(B) 90°,75°
(Cc) 70°,95°
(D) 95°,70°




Maths By Pradeep Sir -

111. Find the values of x, y and z ? x, y 312 2 &T
JATel SITd Be |

(A) 127°,50°, 50°

(B) 130°,50°, 50°

(C) 120°,50°, 50°
(D) 50°, 50°,130°
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112. Find the values of x ?
X BT AT STTd B
(A) 50°
(B) 55°
(c) a5°
(D) 60°
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113. Find the values of x ? x &1 ATel S1Td &He |
(A) 120°
(B) 105°
(c)125°
(D) 100°
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114. Find the values of x ? x &1 ATl S1Td Bl
(A) 75°
(B) 60°
(c) a5°
(D) 65°
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115. Find the values of x and y?
X 311 y BT ATeT STTd Be
(A) 79°,117°

(B) 87°,115°

(c) 81°,121°

(D) 73°,105°
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116. Find the values of x and y?
X 311 y BT ATeT STTd Be

(A) 71°,32°

(B) 73°,34°
(c) 69°,31°
(D) 72°,31°
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117. Find the values of x ?
X BT AT STTd B

(A) 55°

(B) 53°

(c) 56°

(D) 51°
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118. Find the values of x ?
X BT AT STTd B
(A) 79°
(B) 81°
(c) 89°
(D) 84°
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119. Find the values of x ?
X BT AT STTd B
(A) 142°

(B) 141°

(C)143°

(D) 144°
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120. In the fig given below PQ|IRS|ITU||[VW, PR
=10cm,RT=22cm, TV=16cm, QW =42cm
then find QS?

fée Jre a7 A, PallrRslITUllVW, =T PR = 10
cm, Hull RT = 22 cm, 3ull TV = 16cm, 3{ull
QW= 42 cm 3{GIT QS T ATeT S1Td Hell
(A)15cm (B) 8.75cm

(c) 22.5cm (D) 12.5cm
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121. In the given fig AB ||CDI| EF]IGH, if BH =
188cm AC =21cm,CE=12cm, QR=18 cm
and RS = 21 cm find the value of EG + PQ +
DF? faE JE 7 & AB |ICDI| EFIIGH 81T BH =
188 cm, 3{vil AC = 21 cm, 3{uil CE = 12cm, 3{ull
QR =18 cm 3{uil RS = 21 cm, EG + PQ + DF bl

dATel STTd &he ?
(A) 91.5 (B) 93.5
(c) 97.5 (D) 99.5
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122. In the given fig below AB ||CD|| EF, if AB = 30

cm. EF = 50 cm, AC =% CE and BD is x cm less

than DF then find ¢D = ? 5flxl fav 31 A7 & AB ||
cD || EF Af 3{<1T AB = 30 cm 3{12 3G EF = 3 50 cm),
AC = CE, 3{d1T BD, 3{c1T DF & x @l &1 g1 ad 3{ciT
CD 51 HATol &I EIIT 2

(C) —, cm (D) 300 cm |
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123. In the given figure O is the centre of the
circle. AC = BC and 2AOB = 120°, then find
the value of LCAO.

fad 913 A7 & g &1 dox €1 AC = BC AT LAOB
=120° & dl LCAO &I AT EFTI-

(A) 30°

(B) 45°

(c) 60°

(D) 65°
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124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
2CAB + 2LCBA.

{3 92 fda & g9 &1 B &1 LOAB + LOBA =
100° A dl .CAB + ~CBA I HATol ZIT-

(A) 50°

(B) 40°

(c) 60°

(D) 55°
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125. In the given figure O is the centre of the

circle, then find the value of ~BCO.

f3d 713 7 & ga &1 dox 2, 9 LBCO BT AT
SiTd Hifaie ?

(A) 50°

(B) 60°

(c) 70°

(D) 140°
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126. AB is diameter of the semi-circle. Find
the value of BDC.

AB TTH &1 3 gd g1 .BDC T ATel-

(A) 130°
(B) 110°
(c) 90°
(D) 100°
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127. In the given figure, if ZAOP = 75° and
£AOB = 120°, then what is the value of
¢AQP? R fE J1E fAz &, afe LA0P = 75° 30T
2AOB =120°dl .AQP fdhdelT g ?

(A) 45°

(B) 37.5°

(c) 30°

(D) 22.5°
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128. The centre of circle is O. AC and BD are chords of
circle which intersect at P. If ZAOB = 15° and 2APB =
30° then tanz LAPB + cot? 2.COD is-

U gd ol ot ¢1 AC Td BD gd ol oflart & it P Uz wredl
21afe LAOB = 15° 3¢ ~APB = 30° dl tanz LAPB + Cot?

£COD &I AT &-
(A); (B)2
(OF (D) ¥
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129. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on same
side of the arc. What is .BDC equal to ?

TS HAATg fAT ABC 3iie U fawararg fAs(e1 bBC
T g 9 919 & T &l dewp sifdd fase oird €1 .Boc

fad RIae g ?
CYEL (B) 45°
(c) 60° (D) 90°
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130. The centre of the circle which passes
through points A, B and C is 'O'. If ZBAO =
30°, «BCO = 40° and 2AOC = x°. Then find
the value of x. f8cg3il A, B d21 ¢ & I[oieal a1
T g ol doy, ¢ 3¢ 2BAO = 30°, .BCO = 40°
31T LAOC = x°, X BT ATST FAT & ?

(A) 70° (B) 140°

(c) 210° (D) 280°
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131. In the given figure O is the centre of the
circle and ABIJICD. If LADC = 25°, then find
¢AEB°- {7 & g &1 &ow O € 3fie AB || €D &
afeé LADC = 25° &, a1 LAEB STd ShifAA -

(A) 45°

(B) 55°

(c) 50°

(D) 40°
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132. In the given figure O is the centre of the

circle. ZROS = 44° and RO is the angle

bisector of ~PRQ, then find the value of
LRTS.

3 A A7 A g BT dBow 21 LROS = 44° qAT
£PRQ &1 HAfgHTHAD RO 8 dl LRTS &I HATel-

(A) 46° (B) 64°

(c) 69° (D) 68°
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133. AB is a chord of a circle in minor
segment with center O. C is a point on the
minor arc of the circle between the points A
and B. The tangents to the circle at A and B
meet at the point P. If ZACB = 102°, then
what is the measure of ya APR‘-’

AB, O &g dI3 qasis  (minor
Segment)ﬁGﬂTﬂ%IC ﬁ;% 3ﬁ?B$'ﬂﬂﬂ$§H

& Y 19 U Th B g il zuef 2&@me
faq p ue fAesdt &1 afd LAcB =102° ¢, a1 .APB
b1 ATY SATd B

(A) 24° (B) 23°

(c) 27° (D) 29°

D s
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134. Inthegivenfigure, ~ QRU=72° ~ TRS = 15°
and PSR = 95° then what is the value (in
degrees) of - PQR?

¢t 1€ smpfad A, LQRU = 72°, LTRS = 15° dAT
£PSR = 95° &, dl .PQR &1 ATol (f23fl) Az ?
(A) 85 G)EL

(c) 75 ()KL
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135. In the above figure, YAX is the tangent

on a circle having centre O. If Z/BAX = 70°
and 2 BAQ = 40°, then what is the value of
ZABQ?

3ues faa &, YAX g4 &t fAerest dhog 2, Tef
AT g afe ~BAX = 70° 31T .BAQ = 40° g, al

¢.ABQ fbad FeTae 2 ?
(A) 20° (B) 30°
(c) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
j touches smaller circle at point D. Find the
length of AD.

4l ddboul gl &t AT el 13 Aaft. qom 8
1. &1 AB 92 g9 T T € 9T BE BIE g Ue
mef@w%‘awaﬁgaﬁ D fdeg ue zuef dedt
21 AD & SaaTd ST d ?

(A) 20 @,

(B) 19 &4.

(c) 30 &

(D) 31 @4,
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137. In the given figure O is the centre of the

circle. Line UTV is tangent to circle at T. VIR =
52° and PTR is an isoslece triangle such that TP

= TR. What is the value of x +y + z?

ft e = & ga &1 dex 0 21 4T UTV ga ot zuef
o1 T U2 &, VTR = 52° 312 fA3{<T PTR TH HAfGaTE
fAs[c1g, saUBR e f TP = TR &-

x+2y+,zfhAB RELTE ?
(A)175° (B) 208°
(c) 218° (D) 250°
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138. Tangents PT and QT are drawn on a circle of

radius 5 cm from point T which is 13 cm away
from the circle. What is the length of AB?

fdseft faog T & ot 5 dft. AT a1 9 & dhow A 13
adfl. g & waef @t PT 3R QT 3ite it 9L 81 AB
ot Faré fhaoft § 2

(A) % cm (B) 23—0 cm

(®) % cm (D) % cm
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139. Let PAB be a secant to a circle intersecting

the circle at A and B. Let PT be the tangent
segment. If PA = 9 cm and PT =12 cm, then what

is ABequal to?

Aol HHAT PAB T Jd ol veh Bgeh 24T 2 vl g ol
A 32 B U2 ®redl 21 A SifAe pr zef 2@mas
(¢oic A1) glafe PA=9cm 3R PT=12cm §, al

AB & Serae 22
(A) 5cm (B) 6cm
(C)7cm (D) 9cm
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140. A circle is inscribed in a quadrilateral ABCD

touching AB, BC, CD and AD at the points P, Q, R

and S respectively, and 2B = 90°. If AD = 24 cm,

AB = 27 cm and DR = 6 cm, then what is the

circumference of the circle ?

P, Q, R 3ilg s fdg3it ue water: AB, BC, CD 3iI2 AD &1

qufmﬁ vmaqaj‘vrABcoaiaﬂazvasqa
%E deT 4B = 90° g1 Tfe AD 24 Aaft, AB 27

aafmﬁzDR 6 Aft 2, Mga FruRfd T »

(A) 20m

(B) 181

(c)15m

(D) 121
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141. A circle touches the sides BC of AABC at D

and AB and AC are produced to E and F,
respectively. If AB10 cm, AC = 8.6 cm and BC =
6.4 cm, then BE?

T qgd AABC &l BC 3T U2 D &l Tef ®edar g AB 4
AC 1 hel: E dUT F deb 3P IS I1AT afe AB =
10 @4ft, Ac = 8.6 &t 3sile BC 6.4 AHt. &, aIBE=?
(A) 3.2cm/ &4. (B) 3.5 cm/ &H.

(c) 2.2 cm/ &H. (D) 2.5 cm/ &dt.
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142. In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. From Y a tangent in drawn
to the circle at point R. What is the length (in

) of SY?
%rm:ﬂ':?;l?ﬁﬁ PQRS, 4 ddl. ﬁmar?swqazﬁ
vamamméﬁa
wamef%zanzaﬁ?ﬂmﬂ%lsv
(a?ﬁ AFTE?
(A) 4V10 (B) 2V10

(c)evio (D) 35
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143. Two circles touch each other externally at

point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of 2 APB.

&l g9 T gere i P g ue arg] el whed & a2 AB
vo Eieft Sarafoies zuef 2@ € Wit 352 heter: A 2B
feogsif ue zuef et 21 LAPB &1 HTaT E19T1-

(A) 45° (B) 90°

(c) 80° (D) 100°
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144. Two same circles of radius 5 cm has a

direct tangent AB and a transversal CD which
touch circle at A, Band C, D respectively. If CD =
24 cm then find the length of AB (in cm)?

5 Q1. fAT a1 §) HATS qal 6 Teh Hieht Jarafass
el 3@ AB ae ves fadfes 3srafass el F@m cp &
il gl 1 hael: A, Bd C, D U el wedt g13afd cp
= 24 A3t at AB it Farg (Aft. R) =a HifAT!

(A) 27 (B) 25

(c)26 (D) 30
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145. A circle of diameter 8 cm is placed in such a
manner that it touches two perpendicular lines.
Then another smaller circle is place in the gap
such that it touches the lines and the circle.
What is the diameter of the smaller circle?

8 cm T dT31 Th g 3 UehTe el I & fs ag &
qeeue Bd Asit @i el dedl g1 fbe v 3
3fdes Blel gd s wRAITel A 38 UHbTe ear I= & fb
ag Slail eansl 3ie ga & zuef wedr 81 Bl gd @I
T T g ?

(A) 4(3 —v2)cm

(B) 4(3 — 2v/2)cm

(C) 8(3 —V2)cm

(D) 8(3 — 2v2)cm
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146. A sacant PAB is drawn from an external

point P to the circle with centre O, intersecting it
at A and B. If OP=17cm, PA =12cm and PB = 22.5
cm, then the radius of the circle is:

fdseft a1g] fag P & dow a1 g dob St I aifdepr
PAB, gd &1 fdg A 3ile B Uz ufdwfaa wedt 21 af?
OP =17 cm, PA=12cm 3{lE PB = 22.5 cm §, dl g«

&t A= sira Hifarel
(A) V19 cm (B) V17 cm
(C)3v2cm (D) 2v3 cm
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147. If PA and PB are tangents drawn to a circle

with centre O at A and B from external point P
such that 2 APB = 78° then 2OAB is equal to:

afe PA 31T PB 1] fdg P & & aTe> g & f3q A 32
B e it o1 Taef 3t €, it s UebTe 2 fs APB =
78° €, df LOAB &1 HTel S1Td Hel

(A) 12° (B) 29°

(c) 39° )EL
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148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circle atR. If AB =11cm, AP =7 cm
anc; AQ = 9 cm, then find the length of PQ (in
cm).

mqawagfé’gAﬁ,a’rmef%aTéAB 3T AC
gt a1 &, ot weter: fdg B 3fi ¢ we g Hi Fuef
ded! £1 AB 31T AC UE fag P 3T Q whatel: 3 Udle
f&a € fd PQ ga &1 g R Uz zuef wedt 21af2 AB =
11cm, AP = 7 cm 3fi¢ AQ = 9 cm &, dl PQ &t Sarg

(Saft. A) STa B2
(A)6 (B) 8
()7 (D) 5
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149. In the figure below, rectangle ABCD is
inscribed in the circle with centre with centre at
O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is 11 :v3. The line segment DE
intersects AB at E such that the £0ODC = 2 ADE.
The ratio AE: AD is a5 A & T 3mad ABCD gd
A& dox O 21 AT AB &l Saare 3fviT BC & 3ifels
21 A & SAB dAT ATId & SABS ol He[uTd n :
V3 €| SETHUS DE, AB &1 E UE 38 deg Hiedl ¢ fob
£0ODC = ~ADE dl AE: AD T 3{cUTd T gI9T1 ?

(A) 1:v2

(B) 1: 3

(c)1:2

(D) 1:2v2
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150. Two circles, each of which passes through
the centre of the other, intersects at points M
and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com-
pute the area of AKLN.

<l I Th-gEe & dowt & Eehe I[oTed € oIt M dAT N
e @led gl fadreare M & Tl I 3o gal &t K
de L ue fAedt &1afe KL = 6 daft & at fA3{eT KLN T
SAPB S Sd BTl

(A) 613 cm?
(B) 9v3 cm?
() 3\/5 cm?
(D) 83 cm?
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151. In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two quadrants. A
circle is placed touching both the Quadrants
and the square as shown in the figure. What is
the radius of the circle?

¢l 91¢ snepfd A, PQRS T avf & fAFhT afum 8 A,
21 PQS dT QPR G & &l aqf AT &1 T g, g &b
aﬁa%ﬁamﬁawaﬁaﬁmefaﬁm%ﬁmﬁs
3Tpfd A qrfan Iran 81 g b1 AT T g 2

(A)1/2
(B)1/4
(c)2
(D)1
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152. In the given figure, PT is a common tangent
to three circles at points A, B and C respectively.
The radius of the small, medium and large
circlesis4cm, 6 cmand 9cm. O,, O: and O; are
the centre of the three circles. What is the value
incm) of PC?

I1$ 3pfad A, PT it gl ue et fQsgail haer: A,
B dT C T JafUfaiss z—lﬁeﬁ&n%l , A dell
A 93 gal 1 fAvan 4 daft. 6 Asft. va 9 At §10,
oza%an 0,, disil gal & deg; €1 PC &I AT (A, A
I e?
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153. Two chords 2a and 2b of a circle are
perpendicular to each other at a point they meet. If
the distance between the centre of circle to this
point is ¢ (c < radius of circle) then what is radius of
circle.

T dd il 2a 3T 2b mﬁﬁa’tvﬂaﬁi%a’rw%a;qz
3d g Slail HlaTe igl Ufdwde wedl &; afe ga & ooy A
fAqH g 2 (c<« qa bt A=), diqahi A= »

(A)a+b+c (B) \/“2”;2”2
() V 012+2bz—c2 (D) \/a2+b22+c2
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? gt 31 3Tpfd A MNoOP, 6 Att. T ATT Th
aof 21 ga &t fAan &1 aAret (At ) aamg @

(A) 4.25
C)ENL
(D) 4.55
(c) 3.5
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155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center 'O. PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.

fRATe[aTe 92 g4 &t fA%a1 5 § 901 58 Teh BleTga P
UE 3od: eqéf?ﬁmmﬁl aengaasaﬁ'ﬁqmg?%l
fAar Ps BI2 g &I R U Wl &1 OR = 4cm @l SP
ST el o

(A) 9 cm /a3, | |
(B) 12 cm/at.
(c) 6 cm /&4,
(D) 8v2 cm/&d.




___ BB 2 MathsByPradeepsir BB

156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

&t 1€ srpfad A cD dAT AB 9 & UTH € =T AB AT CD
U g U Bad g1 LQ dAT SR hafel: AB dT CD UE &ad
glgd it fAvar 5 Al 8, PB: PA2: 3dATCN :ND = 2:3 81
sM bt Saard (At ) Farg ?
(A) [(5V3) - 3]

(B) [(4V3) — 2]

(O) [(2V5) — 1]

(D) [(2V6) — 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on
the circum- ference of the circle. What is the
radius of the circleincm. ?

R 9 A7 A 1Id AQPR (20 = 10) & & 3mad
ABCD & 3iadfd g & fAwan St el ?

(A) 30cm. lmﬁ
(B) 40 cm. I
(D) 60 cm. /&3
(c) 50 cm. Iﬁ?ﬂ
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. If OA =20 cm, OB =15 cm and
OP =12 cm, then what is the length of AB? 3U¢
fée 91 fAa & AD AL AT 8, OP 2T AD U & &
32 gleil gal 1 doy; &1 AfE OA = 20 d4ft, OB =15
daft. 3ite op = 12 &3ft. at AB &t Baars fdhaeit 2 2
(A) 7ecm (B) 8cm

(c)10cm (D)12cm
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159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. If angle BED and angle BFE in
degrees) are 24 and 110. respectively, what is
the measure (in degrees) of angle EBF?

T A3t ABC & 2fiel A, B 3ile ¢ & thafel: D, E 3 F
&3 & UIE £1 Afe BT BED 312 BIUT BFE (3721 A)
shael: 24° 3{1E 110° €, dl BIUT EBF BT AT (372l A)
fddon o 2

(A) 55 (B) 67

(c) a6 (D) 86
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160. The sum of the internal angles of a regular

polygon is 1440°. The number of sides is:

Th HAAGEIS & Hidfed HIvil &1 ANT 1440° €l
3[oTI3il &t s fasaeft § 2

(A) 12

(B) 6

(JK:

(D)10
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161. The ratio of sides of two regular polygon are
1: 2 and the ratio of their internal angle is 2: 3,

what are the number of sides of both regular

polygon.
Sl daafwil ot I3l BT 3e(uTd 12 & 3iT It
3idfee SIvil & ot BT 3equra 23 21 afe 3T glail

SEI[ON o T3 oY Een whaer: fhasft € 2
(A) 6,12 (B) 5,10
(c) a8 ()AL
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162. If number of diagonals of any regular

polygon is 14, then value of each interior angle
of polygeniis.

gfe fdbeft Teragaer & fdwvolf H dwar 14 2, &t 39
Sg{oT & Wb 3Todfech hIVT BT ATl E191 2

(A) 120°

(B) 128§°

(C) 13537°

(D) 140°
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163. If the measure of each exterior angle of a

regular polygon is (51%)0, then the ratio of the

number of its diagonals to the number of its sides is:

T HIA-TEIA & U qTedt Bivr b A (512) 215ard
faasuil &t EeT siie gadht ot o ST &1 siurd o
2?

(A) 5:2

(B)13:6

(JER

(D) 221
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164. If each interior angle of a regular polygon is

(128 ) then what is the sum of the number of
its diagonals and the nhumber of its sides ? afe

faeft Frarageqst 1y sifafees Hior (1287) 2, ot
mﬂwﬁﬁmsﬁzmﬁqmaﬂﬁmm
AT E ?

(A)15

(B)19

(c)17

(D) 21
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164.ABCD is a trapezium where AD || BC. The diagonal

AC and BD intersect each other at the point 0. If A0 =
3,C0 =x—3,DO0 = 3x — 19 and BO = x — 5, the value of
X is-

ABCD T A g, fAdd AD || Bc g1 fasuf Ac 3ile BD
Th-gee &l fdog T weeue died €1afd Ao =3, co=x -
3,DO = 3x-19 31T BO=x 5, Al x BI AT RATE ?

(A)-8,-9

(B) 8,9

(c)-8,9

(D) 8,-9
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166. If ABCDEF is a regular hexagon, then what s
the value (in degrees) of LADB?

Ifé ABCDEF Tah HIUCHWA &, dl LADB I JHTel
(ff) Aree

(A)15

(B) 30

(c) 45

(D) 60
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167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. f@

TS i A &1 AT T § Udss i oI 6 8

D E IR D
— 1M s/

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and

DE?

dl §d13(] ABDF : APQR & &IABI Pl G|
Z19T1, IET P, Q, R $6d12I: DE, AF, BC & Ay faoe & ?
(A) 6:5 (B) 7:6

(c) a3 (D) 1:1
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if A =102°, ~.BCD

=?

fée o1e 7 &' AE = BC dT AE || BC T diet ofciTe
AB, CD d2T ED &dTd A &d

BT ATl S1Td Bell
(A) 138°

(B) 162°

(c) 88°

(D) soIH A BIE T
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169. An equilateral triangle of area 300 cm? is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of

the area of triangle?

Ueh HAATE A3t et dawe 300 deft2 2, &
Id diall 2ftsf &l Tk TAIC3H FolTat & fAT Bret
SATdT 81 SE3{T T &A% e (Aa{oT & Sahes ol fabde

ufderde?
(A) 66.66% (B) 33.33%
(c) 83.33% (D) 56.41%
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